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Time : Part-I : 90 minutes Part-1 : Total Marks : 100
Part-II : 90 minutes Part-Il : Total Marks : 100
Date : 20-11-2011 TIME : 11-00 to 12-30
SUNDAY 12-30 to 14-00
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Please Read the following instructions carefully, then you answer the questions on
OMR answer sheet

Please write name of the centre and your Roll No. on the OMR answer sheet in the
proper column.

This test is in Two parts i.e. Part-I and Part-Il. Each part contains 100 questions. Each
question carries One mark.

All questions are compulsory. Do not try to read through the whole question paper
before beginning to answer it. Begin with the first question and keep on trying one
question after another till you finish both parts.

If you do not know the answer to any question do not spend much time on it but pass

on to the next one. If time permits you can come back to the questions which you have
left in the first instance and try them again,

The last pages of this question booklet is meant for rough work.

Remeber you have to mark your answers on SINGLE OMR ANSWER SHEET
i.e. Part-I and Part-II both are in single OMR answer sheet.

The OMR answer sheet is common for Part-I and Part-II. There are 100 questions in the

OMR answer sheet for Part-I on Mental Ability Test and the Par-Il has 100 questions

‘on Scholastic Aptitude Test. The question number 1 to 35 are based on Science, 36 to

55 pertain to Mathematics, 56 to 90 are based on Social

Science and
91 to 100 are on all subjects.

You must submit the Question Paper to the invigilator on completion of the examination.

Start answering the questions in the single OMR answer sheet.

NMMS.-2011 1

olLdliceu Dy wdadllrliotdllirici



ANXY ¢

Ay :

n

&)

(&)

)

®
6

SIS

Aod M-su-ade aru-2014

HIReL - ¢ N8s HoR
Reua1 : 9% RR2 [QeudT & @ 100
Rewa-1 @ %0 AR [QeuR-IT & & L 100
R0-11-2011 AMA ¢ 11-00 Al 12-30
Lar 12-30 ol 14-00

~~~~~~~~~~~~~~

A aiell yarua wunyds qmi cuw»ua d‘l':l wuqmt WY u‘t b*m.wz anqél R
¥ YAUAN AN \ %

AR Svgd UM dll dHRL 8lss HoR wau@ n%uél :o& DR, Gl W [&&{’&u
WU audl. | L |

2 sAE o Qe 8 ed 3 [aeual-l :a-l @Nl%—Z o Qe ga 100 - 100 Ma-il
B. B sl As A 8. | A

A Haell s S 20y uaua aizll L udl 9 e <ell. s wdl
s UL AAAL W2 A FUSL nté UL &?.ca Al
113{ .

‘lb' .
r
-

-----

Rewdt-1 24 {Et@im-zvﬁ
Avsl.

Reyd-1 219 |

1 35 |



NMMS-2011
~ PART-I
[deua-q
- MENTAL ABILITY TEST
WS andl swd I

canned py Camoscanner




canned py Camoscanner




| t.
In the following 11 to 20 questions one group of alphabets is differen i princip),
it on your answersheet,

lying under it. Find out the different alternative and show -

93 2udan 11 4 20 weilai s youmad o 465 HAHHR VAR AT ::
dHIRL AU D %EL Flol uA Gu ealdl.

Al
11. (1) US (2) NP 3) WY (4) IK ?
21.

12. (1) KLM ) QST (3) BCD (4) WXY
, »

13. () CBE ) QMV (3) LNP (4) BDC
ey 23,

| 4 ¢
14. (1) BCd (2) MXL (3) KNj (4) UXe *
15. (1) SAT (2) MAT (3) NET (4) RAT ’s
16. (1) ApD (2) XPe G MK (4) PtU 26.
St G,

17. (1) AZB 27.




If' 'the followifig questions 21 to 30 are based on Analogy. There is a certain
lationship between ‘first and second group shown as : The same relationship should exist
petween the third and the fourth group. Find out the correct answer from given
alternatives. Show your answer on the answersheet.

At en 21 Al 30 usdl uHULY Gu 2R B, 235 Ul udai 6 A AR AYS
liss 2oin B9, d o 2ein Al 244 Ala @ 423 dldl ASA. ddl 2uden [Qsadnidl w2 [sen
el iRl ust e Ut Gu sadl,

21. MIRA : MARI : : SITA :

(1) SITA el e e ) 5114 (4) ASIT
)>. NONE : HESE : : LILE : |

(1) PUSU (2) POSE (3) PISE (4) LULU

23. TRAM : GRAM : : DRAM :
(1) DRAM ' (2) UARM (3) WRAM - (4) GARM
4. GUAGE : HVBHF : : AGEVG :

(1) HVBHF 2) BHVFH  (3) HBVHF (4) BHFWH
5. TUBE : STAD : : PORT : _ )
(1) PORT (2) ONQS - (3 sQNOo (4) NQSO

26. FREE : EQDD : : TAP :

(1) ZOAH v @ SA0~r—ttuEridiapsad (1) 570
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is given on the left side. You ha

In the following 31 to 40 questions are one figureﬁves- Find your AR and |

to find out the ‘Mirror Image’ from the given alterna
it on your answersheet.

04 suldien 31 A 40 wa-dui sl ougA As gl 2
sular 22 [Esaduidl Asui 20dl 8. sun 2usld Wl axR

(1)

) Dl

Adl 8. A 2ugldddl S MQW
ool U GUR UL Y

32,

0
o _b

(1)
34.

(1)
3s.

®
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In the following 10 questions four figures are given, One figure is different from all
others figure. Three of them are similar under some principle. Find the different figure
and that will be your answer. Show it on vour answer sheet,

S 1B HIMAL B2 UoALML w12 ’)"\5["14)” wddl 19, wig J'i,lf;[d ‘:._'r" slesde %4l ul 9. il 4l

9 d il amzl ga 9, dd gas w4 Guz saldl,

3

_}ﬁ

51.
(1) (2) (3)
52. | /\ ' >< ' ><
(1) (2) (3)
(1) (2) (3) (4)
@ ®
'54. e | 2 ' D q . F
2) (3) (4)

‘T\
ngh
4

ol

-
<]

(2) (3) 4)
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- el vl I _\.
A A
56. v v
® )
L
(1) (2) 3) (4)
W
- (>< C>K] X | %
(1) 2) 3) @)
(Uta <>
(1) 2) @3) (4)

b 2 Z | e A

(1) ) A3) @)

60.

) @) 3) @
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81. 2usld-1ni 32an wthila © ?

81. How many half circles are there in Figure-1 ?

1) 8 @) 6 3) 4 @ 10

82. wigla-1ui sedl aS-i €9 ?

Figure-1
Mlﬁ[?l—l 82. How many lines are there in Figure-1 ?
1 8 2) 4 3 S “4) 6
83. ugld-2ui sean [asia O ?
83. How many triangles are there in Figure-2 ?
@y 5k @) 4 @) 3. st «@dus
84. vusla-2ui s2el cud-l © ? X ;
Figure-2 | ~ W IR
b'ﬁ;[': 5 84. How many lines are there in Figure2 2

@) 10 o (@O I

-y,
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Bl 2SR Wt Beai dnad 25 w8, dl A ealu wl sS4
: Allw @9l ?

(1) 4 qdaR (2) 2 1312 () 1 QR (4) 3 AR
91 Last monday of October month is 25th, which date will be on next tuesday ?
(1) 4 November (2) 2 November (3) 1 November (9 3 November

2. S5Al As Aaul x el supell Asw $A D A el ouyell L 41 9 Al A
L Rl v Sed)l awy ? :

1 26 d Q) 24 @) 25 @ 23

2. In one line of boys x is 14th from left side and 12th from right side, then how many
boys are there in a line ?

1 26 ) 24 3 25 ¢ 2

93. LRV’ 1 s ai3las cuwmi 121822 vl usty, ol A o i3S cumi VRE 4 3 A4
quiy 7
(1) 12822 (2) 182212 @) 221218 ) 221812

In a certain code language ‘LRV’ is written as 121822, then what should be written
for ‘“VRL’ in the same code language ?

i o 1282 @ 182212 @) 21218 @ ,mm | :
‘ 4. V §2di-A Gul 8. Z ¥ F2cl GUl <l Al Al 6Y sl ?
(1) 4 T () 2. asthi
94. Vs taller than A. Z is not as tall as ¥, than who is

a 4 @V

e 3L 301 9. ol 3 oo 2l L B, A3 A
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g T

2L Na,CO; i wgild)l ga dva dedl 6 7 Pk
M 3 @2 6 3 & E
21, What is the tetal number of atoms in the molecule Na,CO; ? ¥
(I 3 @) 6 &1 ¥ . ‘o
22. Nl 3unl wag g dr &4 O 7 d T
(1) Hg @) Au (3) Al ol i
22. Which metallic element is found in liguid state ? B
(1) Hg ) Au (3) Al (4) Cu oy
23, 53 Rawd sul iy wiondly Gu B 7 i
(1) CL, @) R @) CO, (@) udaior- ke
23. Which gas is dissolved in cold drinks ? : e
1 (2) methane 3 CO, (4) Nitrogen =~
24, Y8 RS A4 2 B 7 » i
(1) 81 HNO, {2) 8t HQI (3) at wal C(4) an sl sl
24. What is known as dry ice ? ! ‘
(1) solid HNO, (2) solid HCl (3) solid Hg
BIOLOGY
25 offg iwim YR A s0gudL aqRa AAuuif) g a9
(1) M 2) 42l @) 2l
25. Which of the following plays an important role to
to increase fertility ?
(1) Snake (2) Dog
26, Aa-isf) @oru 3 @l Uss 84 O ?
(1) Gez 4 aius  (2) 4dal
26.  Which of the following is the vector
(1) Rats and Fleas (2) Dog :
27, AAuuidl 5 af5iss w2 Wtﬁm
(1) sy (2) vlses
27. Which of the followulg i
(1) Virus 2)
N.M.M.S.-2011
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3 | HIL & f
=\ . S ~ . 1 0 d l:_,’l.ltl H '
49, WS veuq WY dl yrssia s:dl 3 AY 9. :15“0 (4) 135 |
M) 9% @ 120 O upplimentary angle. The megg, |
. ure Of 1ts bul')p 1
49.  Measure of an angle is 3 times the meas 5
of this angle = : 4y 135 '
s (3) 150 4 i
1) 9o 2) 120 g
: s 2t e S Al ojeltR b .
S0. o1 oAl Bzl opeinR S O d dul grsull 2 7 g
27 4y ==
9 4 £l 4
) 7 @)= (€) 27
: |
2 : ir volumes = .
S0.  The ratio of radii of two spheres is 3 - the ratio of their v
9 4 27 e :
£ & e 27 ]
@ @ 5 G) 3
SL 70 AL - vaue SRSl yssier, wy = :
1) 160 @) 20 3) 30 (4) 140 i
S1. The measure of the supplimentary angle of the complimentary angle of the measure
angle 60 is = : :
(1) 160 : 2) 20 3) 30 (4) 140
52. r Bt adun 3ol <) i) wd @l Hdr = . |
1@ o @) 3) 2r 4) 4r
52. the distance of the largest chord from the centre of the circle of radius r =
® 0 @ r 3) 2r @) 4r
53. s el Al AR A @l Wl 20 B, - svy = ;
1 -10 @ -5 3) -20 @ -15
53. The sum of a negative number and its square is 20. .. that number is =
(1) -10 2) -5 3) -20 ). =15
54. uH uid wglds v weas ), : ;
1 s @ 3 @) 2 ' @) 4
54. Find the mean of first five natural numbers, &
M 5 @ 3 ® 2 il
7 . :
55. 5 U oadl [ w6 7 \
2 : 1 ‘ 7
R ' (2) =il = et 2 ~
D i S ) b (@i |
S5.  Which is the additive inverse of the multiplicative inverse of 7
i
2 1o 7
e e R o 2
) @ el Sl @ -2 ;
N.M.M.S.-2011 28 ;
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62. ©.A.1898 Wi “tiga us” sA A3 sul 8dl ¢ &
i M Q.q
(1) AN AHHISH AU (2) s AR
: e
(3) 2l [Qds-e (4) AHEWL URH
0

62. Who started “Belur Math” in 1898 A.D. :

2) Dayanand Saraswatl

(1) Raja Rammohan Ray
aramhans

% 4 b
(3) Swami Vivekanand 4) Ramkrishna l
63. slduvuHl auotAl Sl gl 2w 8dl ?

A '
oy s si
(1) dlS Wd ) And sada i

3) ald 3es1GRll

63. Division of Bengal was done by whom ? C
(1) Mord Morley  (2) Robert Clive 3) Lord Delhousie (4) Lord Curzan

64. MEIAEH] NAN 2uam Aiflwa sa adui ardl sdl ?

1) S.2. 1915 @) S 1916 @) .. 1917 4) 6. 1918
64. Gandhiji established his first Ashram in Ahmedabad in the year of -

(1) A.D. 1915 2) A.D. 1916 (3) A.D. 1917 (4) A.D. 1918
65. MErt ual sivl a3 s edl ?

(1) twalZaq 2md (2) 2idl®

3) [a-ion cud @) elels AaRi®

65. Who started Bhudan Movement ?

(1) Gopal Krishna Gokhle (2) Gandhiji

(3) Vinoba Bhave (4) Dadabhai Navroji

66. ‘53 Ul U L ALY SN GIRL AWY &g ?

(1) YeunRis oy () Aidle
(3) ™REIR ud | (@) Qaoig WAl i
66. Who gave slogan “Do or die” ? 5
(1) Subhashchandra Bose - (2) Gandhiji
- (3) Sardar Patel (4) Lalbahadur SHastri
67. vzl 28 addl wellal AMFYHIRS S Sl T
(1) A AH WA (b) %53 by
(c) *lRUBL A3 (@) ullen 5§
67. Who was the well-known social reformer in the Maharashtra 2
(a) Raja Ram Mohanray (b) Thakkar Bapa
(¢) Narayan Guru (d) Jyotiba Phoole
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| il e Mgt AR 2udlardl Q8 adouoll o) ?
() aioHl g

(3) LA w2

who lead ‘Satyagrah of Sae
(1) Sarojini Naidu

(3) Vallabhbhai Pate]

(2) SHH W8
(4) LU AUAD)
next to Gandhiji ?
| (2) Imam Saheb

(4) Abbas Taiabji
DA CRANE A N sl W 4 ?

(1) W8T A ) durRR AR (3) suddl AuAS  (4) vuvsdl 4nan
Which Satyagrah did Gandhiji first in India ? '
(1) Kheda Satyagrah ' (2) Champaran Satyagrah

(3) Bardoli Satyagrah (4) Non co-operation. movement
e udas MRERY [B13e s ucunedl 2uuami 20y, ? b
(1) VISl AcuAS (2) HRAMBL AAAS  (3) GIRAUE ARUAS - (4) ARSIAL AU
From which Satyagrah did Vallabhbhai Patel get the name of ‘Sardar’ ?

(1) Kheda Satyagrah (2) Dharasana Satyagrah

(3) Borsad Satyagrah . (4) Bardoli Satyagrah

s, Yuied A Y3 il sixll 2ull ¢dl 7

1) $.4. 1930 (2) 9.4, 1931 (3) S.u. 1932 (4) .4, 1933
When did Bhagatsingh, Sukhdev and Rajguru were hanged ?

1) A.D. 1930 (2) A.D. 1931 (3) A.D. 1932 4). A.D. 1933
Reg-yfRm Dsdl W2 2uRd Guart S8 9 sal e 7

(1) ¥RER U4 (2) FUSRAA 83

3) 3L A% UALE , @) A

Who had started fasting till death for the Hindu-Muslim unity ?
(1) Sardar Patel (2) Jawaharlal Nehru
(3) Dr. Rajendra Prasad . (4) Gandhiji

2l wad GRdld darR FRd s gl ? ,

(2) FAUSRAA 83

(4) A 2uMe

1) WG~ sien

(3) ~ll. aegoiutaradl
" Who was the first Indian Governer General ?
(1) Mount Betan  * . i (2) Jawaharlal Nehru

: @3) C. Rajgo p@.palﬁcll_ari*"-"}’ .(4) Maulana Azad

DMS2011 2
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74.

74.

76.

76.

Vi

7.

78.

78.

(1) Lok Sabha | (2) Rajya Sabha
(3) Legislative Assembly (4) Legislative Council

Alsatil AL Al W2 i 208 Gua szdl il AdHA ?

a
(1) 25 2) 30 ad 3) 18 a 4) 21
For becoming a member in Loksabha, the minimum age has t0 bel' -
(1) 25 years (2) 30 years (3) 18 years 4) 21y
ol e A adl dean euorn el Mg w6 7
: 8 1 1 s
jadt = g @3 5

ears
How much portion of members do get a retlrement every two Yy
Rajya Sabha ?

(1) % : ) -} S @) % @ ‘;’
dued dlag e s ¢ ?

(1) Qs (2) ABUAUHL

(3) [Qa-usu @) [Qan ulRue

Which is the lower house of Parliament ?

Alsud uaH 25 sie e ?
(1) MRER Y2 ) w6l L RCICECI

(3) 3L AB% UAE , @) e
Who was the first speaker of Loksabha ?
(1) Sardar Patel

(3) Dr. Rajendra Prasad
el 391 A%AAMIAL AU A0 w;t @ e
(1) 2e2uld
(3) 43I

(1) President . 2
() Prime Minister
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